
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.062, page 254 

 

Last update: 22-10-07 

1 2

3 4

n.l.

216, 2 N/mm

5,4
16,2

spanningsdiagram

_

n.l. +

_

_

+

16,2

5,4

16,2

5,4

5,4

n.l.

Remarks: See §4.8, pages 198 till 203 
 
Answers: 
a. The mid-span cross-section. 

b.  in the corner points 2 and 3 2
max 16,2 N/mmσ =

c.  2
1 5,4 N/mmσ = −

  2
2 16, 2 N/mmσ = −

  2
3 16,2 N/mmσ = +

  2
4 5,4 N/mmσ = +

d.  neutral axis: 0y z+ =  
 
Explanation: 
 

6 466,67 10  mmzzI = × ; ;max 7,2 kNmzM =  
6 416,67 10  mmyyI = × ; ;max 1,8 kNmyM =  
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Neutral axis: ( , ) 0  0y z y zσ = ⇒ + =  

 

Tension diagram 


